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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. This paper consists of 8 questions.

w

Answer any 5 questions.
4. The marks of each question are written alongside the questions.
5. The use of non-programmable calculators is permitted

6. Answers may be written either in English or in Hindi, but the same medium should
be used throughout the paper.
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1. “There is no single driving force behind economic growt »_Elaborate with reference

(15)

to differences between nations.
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2. Discuss the key features of economic reforms in China and India. Why has India
not succeeded in increasing its labour intensive manufacturing employment as

(15)

compared to China ?
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3.  Why is the Harrod Domar model called a neutral theory of economic growth ?
What is the feedback, if any, from the level of per capita incomie to the parameters

that affect the growth process ? (15)
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4. Outline an endogenous growth model where the rate of savings and rate of
investment in human capital have growth effects and not just level effects as in

the Solow model. Discuss some of its implications. (15)
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5. (a) Inasociety of 400 people, the income distribution is such that 200 people
have an income of Rs. 1300 per annum, 100 people have an income of Rs.
900 per annum and 100 people have an income of Rs. 500 per annum. If
the poverty line is Rs. 1000 per annum, calculate the Head Count Ratio
(HCR), Poverty Gap Ratio (PGR) and Income Gap Ratio (IGR). (1,2,2)
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6.

(b)

(F)

3

Given a budget of Rs. 10,000 how should it be used to minimize HCR and
IGR in this society ? 2,2)

If people in the income group of Rs. 500 give Rs. 50 each to those earning
Rs. 900, what will happen to the HCR, IGR and PGR ? 3)

Discuss briefly a measure of poverty that captures the extent of inequality
among the poor. : (3)
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g1 (3)

“What the capability perspective does in poverty analysis is to enhance the
understanding of the nature and causes of poverty and deprivation, by shifting -
the primary attention away from the means to the ends that people have
reason to pursue.” Discuss. 8)

Discuss the dynamics of income inequality in Europe and the US in the 20®
century. ) (7
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“Development depends not so much on finding optimal combinations for
given resources and factors of production as on calling forth and enlisting
for development purposes, resources and abilities that are hidden, scattered or
badly utilized.” Discuss this statement in the light of the strategy of unbalanced

growth. (15)
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(a) In a model of corruption where the government is the sole producer of one

homogeneous good which is sold by a monopolist government official, explain

why corruption with theft is more attractive to buyers than corruption without

theft. (10)

(b) Each person behaves within the constraints of his own environment and

it translates into aggregate behaviour through a system of interaction.

Discuss. %)
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